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Ń 7 4 @ : 3 3 1 4 2 : 5 = 4 6 : 4 2 1 @ 7 C E 7 5 8 > j P ´ > 4 C : < < : ; 4 S

Canadian US Mexican NorthAmerican

� � �

0.0

´ � �

1.0

nnn

nnn

nnn

nnn

�

©

� � � � � p p 	 q � � � � � � � � r s � � � t � � � � � � � � � u � 
 v � � � � w � � � � � �



AB

� � � � � � � � � 	 
 � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

&

$

%

' � � � � " � � � � � � � � � � � � � � � � � � �

➤

Q : 7 4 E < : 8 7 @ > < 3 1 < > 6 7 : 5 4 N 7 2 4 > = = 4 : A 1 ? 5 @ 1 3 6 > 7 5 6 E 6 : 6 N 1 4 @ 1 5 > 3 7 : n

➤

L . � - � � ) � 3 1 < > 6 7 : 5 4 N 7 2 @ : A 2 3 7 4 1 4 6 N 1 C : < < : ; 7 5 8 2 3 7 5 @ 7 2 < 1 4 S

k
n
G > @ N @ > ? 4 1 N > 4 > 5 7 5 = 1 2 1 5 = 1 5 6 @ N > 5 @ 1 : C @ > ? 4 7 5 8 6 N 1 1 ³ 1 @ 6 n

§
n
L < < 2 : 4 4 7 I < 1 @ > ? 4 1 4 > 3 1 < 7 4 6 1 = n

n̈

� N > 6 1 R 1 3 7 5 N 7 I 7 6 4 4 : A 1 @ > ? 4 1 C 3 : A @ > ? 4 7 5 8 > 5 1 ³ 1 @ 6 7 4

7 5 = 1 2 1 5 = 1 5 6 : C ; N > 6 1 R 1 3 7 5 N 7 I 7 6 4 : 6 N 1 3 @ > ? 4 1 4 C 3 : A @ > ? 4 7 5 8 6 N 1

1 ³ 1 @ 6 n
� 5 N 7 I 7 6 : 3 4 > 3 1 4 ? A A > 3 7 � 1 = > 4 . � - � / ® � � � ­ / + / � � n

➤

L 5 : 7 4 E M 0 3 1 < > 6 7 : 5 4 N 7 2 7 5 ; N 7 @ N > R > 3 7 > I < 1 = 1 2 1 5 = 4 : 5 k 2 > 3 1 5 6 4

@ > 5 I 1 = 1 4 @ 3 7 I 1 = ? 4 7 5 8 k 2 > 3 > A 1 6 1 3 4 n

� 5 @ : 5 6 3 > 4 6 6 : 6 N 7 4 � 2k 1 5 6 3 7 1 4 > 3 1 5 1 1 = 1 = 7 C > C ? < < j P 7́ 4 4 2 1 @ 7 � 1 = n

�

©

� � � � � p p 	 q � � � � � � � � r s � � � t � � � � � � � � � u � 
 v � � � � w � � � � � �

AB

� � � � � � � � � 	 
 � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

&

$

%

« ¬ � ­ ® , / ¡ � 1 6 ? 4 @ : 5 4 7 = 1 3 > A 1 = 7 @ > < = : A > 7 5 7 5 @ < ? = 7 5 8 6 N 1 R > 3 7 > I < 1 4

Fever

£ > 4 E A 2 6 : A ¦ � Cold � Flu � > 5
=

Malaria

£ = 7 4 1 > 4 1 4 ¦ n
� 4 7 5 8 5 : 7 4 1

2 > 3 > A 1 6 1 3 4 P(¬fever| cold,¬flu,¬malaria) = 0.6 �

P(¬fever| ¬cold,flu,¬malaria) = 0.2 � > 5
=

P(¬fever| ¬cold,¬flu,malaria) = 0.1 � ; 1 8 1 6 6
N 1 C : < < : ; 7 5 8 j P Ś
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F F F 0.0 1.0
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T T T 0.988 0.012= 0.6×0.2×0.1
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A > 6 3 7 @ 1 4 : C 2 3 : I > I 7 < 7 6 7 1 4 n

➤

Ń 1 ® � - . + � - � / ® � � � * � + : C 6 ; : C > @ 6 : 3 4 f1(X,Y) > 5
=

f2(Y,Z)

7 4

= 1 � 5 1 = I E (f1× f2)(X,Y,Z) = f1(X,Y)f2(Y,Z) n

➤

L R > 3 7 > I < 1 X @ > 5
I 1 � * ­ ­ / � � * + C 3 : A > 2 3 : = ? @ 6 : C C > @ 6 : 3 4

fi(X,Y)

I E @ : A 2 ? 6 7 5 8 ∑x(f1(x,Y)× . . .× fn(x,Y)) n

➤ ?̧ < 6 7 2 < 7 @ > 6 7 : 5 6 > F 1 4 2 < > @ 1 : 5 < E ; N 1 5 4 ? A A 7 5 8 : ? 6 R > 3 7 > I < 1 4 n

➤

G R 1 3 E R > 3 7 > I < 1 6 N > 6 7 4 5 : 6 > 5 > 5 @ 1 4 6 : 3 : C > ² ? 1 3 E R > 3 7 > I < 1 : 3

1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 7 4 7 3 3 1 < 1 R > 5 6 6 : 6 N 1 ² ? 1 3 E > 5 = 6 N ? 4 3 1 A : R > I < 1 n
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%

« ¬ � ­ ® , / ¡ Ń 1 @ : A 2 ? 6 > 6 7 : 5 : C 6 N 1 2 3 1 R 7 : ? 4 = 7 4 6 3 7 I ? 6 7 : 5

P(B | j,m) = αP(B)∑
e

P(e)∑
a

P(a | B,e)P(j | a)P(m | a)

6 > F 1 4 2 < > @ 1 I : 6 6 : A � ? 2 ? 4 7 5 8 C > @ 6 : 3 4 > 4 C : < < : ; 4 S

k n fM(A) = 〈P(m | a),P(m | ¬a)〉 m

§ n fJ(A)

7 4 = 1 � 5 1 = > 5 > < : 8 : ? 4 < E m

n̈ fA(A,B,E)

7 4 6 N 3 1 1 � = 7 A 1 5 4 7 : 5 > < m

l n 6
N 1 R > 3 7 > I < 1 A

7 4 4 ? A A 1 = : ? 6 C 3 : A 6 N 1 2 3 : = ? @ 6 : C 6 N 1 4 1 6 N 3 1 1 S
fJ,M(B,E) = ∑

a
(fA(a,B,E)× fJ(a)× fM(a));

· n E

7 4 4 ? A A 1 = : ? 6 4 7 A 7 < > 3 < E > 5 = P(B | j,m) = α fB(B)× fJ,M(B) n
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 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

&

$

%
$ � � % � � � � � � � � � � � & � � � � ! � � � � � � � �

➤

L ® � , � + � / / 7 4 > � - . � , � � � . . / � + / � 8 3 > 2 N S 6 N 1 3 1 7 4 > 6 A : 4 6 : 5 1

? 5 = 7 3 1 @ 6 1 = 2 > 6 N I 1 6 ; 1 1 5 > 5 E 6 ; : 5 : = 1 4 n

➤

� C > I 1 < 7 1 C 5 1 6 ; : 3 F C : 3 A 4 > 2 : < E 6 3 1 1 � 6
N 1 2 3 : I > I 7 < 7 6 E = 7 4 6 3 7 I ? 6 7 : 5

P(X | e) @ > 5
I 1 @ : A 2 ? 6 1 = R 1 3 E 1 H @ 7 1 5 6 < E £ 7 5 , - . / � � + - ­ / ¦ n

➤

� : 3 ­ * , + - ® , � � � . . / � + / � 5 1 6 ; : 3 F 4 �
7 5 ; N 7 @ N > 6 < 1 > 4 6 6 ; : R > 3 7 > I < 1 4

> 3 1 @ : 5 5 1 @ 6 1 = I E 4 1 R 1 3 > < 2 > 6 N 4 � R > 3 7 >
I < 1 1 < 7 A 7 5 > 6 7 : 5 @ > 5 N > R 1

1 J 2 : 5 1 5 6 7 > < 6 7 A 1 > 5 = 4 2 > @ 1 @ : A 2 < 1 J 7 6 E 7 5 6 N 1 ; : 3 4 6 @ > 4 1 n

➤

� 5 8 1 5 1 3 > < � 1 J > @ 6
7 5 C 1 3 1 5 @ 1 7 5 D > E 1 4 7 > 5 5 1 6 ; : 3 F 4 7 4 Q P � N > 3 = £ 1 R 1 5

� P � N > 3 = ¦ > 4 7 6 7 5 @ < ? = 1 4 2 3 : 2 : 4 7 6 7 : 5 > < 7 5 C 1 3 1 5 @ 1 > 4 > 4 2 1 @ 7 > < @ > 4 1 n
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 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

&

$

%

% � � � � � � � � �  � � � � � � � � �

➤ ?̧ < 6 7 2 < E @ : 5 5 1 @ 6 1 = D > E 1 4 7 > 5 5 1 6 ; : 3 F 4 @ > 5 I 1 6 3 > 5 4 C : 3 A 1 = 7 5 6 :

2 : < E 6 3 1 1 4 I E @ : A I 7 5 7 5 8 4 : A 1 5 : = 1 4 7 5 6 : @ < ? 4 6 1 3 5 : = 1 4 n

« ¬ � ­ ® , / ¡ j : 5 4 7 = 1 3 @ < ? 4 6 1 3 7 5 8 6 N 1 5 : = 1 4 Sprinkler > 5
=

Rain

7 5 6 N 1

C : < < : ; 7 5 8 A ? < 6 7 2 < E @ : 5 5 1 @ 6 1 = 5 1 6 ; : 3 F S

P(C) = .5

C P(R)

T

F

.80

.20

C P(S)

T

F

.10

.50

S R P(W)

T T

T F

F T

F F

.90

.90

.00

.99

Cloudy

RainSprinkler

 Wet
Grass
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➤

Ń 1 C : < < : ; 7 5 8 2 : < E 6 3 1 1 5 1 6 ; : 3 F 7 4 : I 6 > 7 5 1 = S

P(C) = .5

C TT TF FT FF

T

F

.08

.40

.02

.10

.72

.40

.18

.10

P(S+R=x)

S+R P(W)

T T

T F

F T

F F

.90

.90

.00

.99

Cloudy

Spr+Rain

 Wet
Grass

➤

� 7 5 1 > 3 6 7 A 1 > < 8 : 3 7 6 N A 4 @ > 5 I 1 ? 4 1 = C : 3 ² ? 1 3 E > 5 4 ; 1 3 7 5 8 �
I ? 6 6 N 1

4 7 � 1 : C 6 N 1 5 1 6 ; : 3 F 8 3 : ; 4 1 J 2 : 5 1 5 6 7 > < < E 7 5 6 N 1 ; : 3 4 6 @ > 4 1 n

➤ É 2 7 @ > < < E � 6
N 1 3 1 > 3 1 4 1 R 1 3 > < ; > E 4 6 : @ : A 2 : 4 1 @ < ? 4 6 1 3 5 : = 1 4 > 5 = 7 6 7 4

5 : 5 � 6 3 7 R 7 > < 6 : @ N : : 4 1 6 N 1 I 1 4 6 ; > E 6 : 2 1 3 C : 3 A @ < ? 4 6 1 3 7 5 8 n
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&

$

%

�
y
 � � � � � ! ~  $ & ! ' � & � & ' % &

! ' �  � & # !  ' ' & $ { � � z #

➤

0 > 5 = : A 7 � 1 = 4 > A 2 < 7 5 8 > < 8 : 3 7 6 N A 4 2 3 : R 7 = 1 > 2 2 3 : J 7 A > 6 1 > 5 4 ; 1 3 4

; N : 4 1 > @ @ ? 3 > @ E = 1 2 1 5 = 4 : 5 6 N 1 5 ? A I 1 3 : C 4 > A 2 < 1 4 8 1 5 1 3 > 6 1 = n

➤

¶ 1 3 1 4 > A 2 < 7 5 8 7 4 > 2 2 < 7 1 = 6 : 6 N 1 @ : A 2 ? 6 > 6 7 : 5 : C 2 : 4 6 1 3 7 : 3

2 3 : I > I 7 < 7 6 7 1 4 8 7 R 1 5 > 2 3 7 : 3 = 7 4 6 3 7 I ? 6 7 : 5 £ > D > E 1 4 7 > 5 5 1 6 ; : 3 F ¦ n

➤

Ń 1 3 1 > 3 1 4 1 R 1 3 > < > 2 2 3 : J 7 A > 6 7 : 5 A 1 6 N : = 4 7 5 @ < ? = 7 5 8

�

¤ 7 3 1 @ 6 4 > A 2 < 7 5 8

�

0 1 � 1 @ 6 7 : 5 4 > A 2 < 7 5 8

�

� 7 F 1 < 7 N : : = ; 1 7 8 N 6 7 5 8

� >̧ 3 F : R @ N > 7 5 :̧ 5 6 1 j > 3 < : > < 8 : 3 7 6 N A
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&
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%
| � � � � � # � � � � � � � ~ � � � � � �

➤

� 5 = 7 3 1 @ 6 4 > A 2 < 7 5 8 � 6
N 1 ; : 3 < = = 1 4 @ 3 7 I 1 = I E > D > E 1 4 7 > 5 5 1 6 ; : 3 F

£ ; 7 6 N : ? 6 1 R 7 = 1 5 @ 1 ¦ 7 4 4 7 A ? < > 6 1 = 4 6 : @ N > 4 6 7 @ > < < E n

➤

L 6 : A 7 @ 1 R 1 5 6 4 > 3 1 3 > 5 = : A < E 8 1 5 1 3 > 6 1 = 7 5 6 : 2 : < : 8 7 @ > < : 3 = 1 3 I E

4 1 < 1 @ 6 7 5 8 = 1 � 5 7 6 1 R > < ? 1 4 C : 3 3 > 5 = : A R > 3 7 > I < 1 4 n
➤

Ń 1 R > < ? 1 C : 3 > 3 > 5 = : A R > 3 7 > I < 1 X

7 4 @ N : 4 1 5 > @ @ : 3 = 7 5 8 6 : 6 N 1

@ : 5 = 7 6 7 : 5 > < 2 3 : I > I 7 < 7 6 E 6 > I < 1 > 4 4 : @ 7 > 6 1 = ; 7 6 N X n

➤


 � - � � � � ­ ® , - . � 2 3 : = ? @ 1 4 6 N 1 1 R 1 5 6 x1, . . . ,xn

; 7 6 N 2 3 : I > I 7 < 7 6 E

SPS(x1, . . . ,xn) =
n

∏
i=1

P(xi | Parents(Xi)) = P(x1, . . . ,xn).

�

©

� � � � � p p 	 q � � � � � � � � r s � � � t � � � � � � � � � u � 
 v � � � � w � � � � � �

AB
� � � � � � � � � 	 
 � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'
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%

➤
Ń 1 2 : 4 6 1 3 7 : 3 = 7 4 6 3 7 I ? 6 7 : 5 P(X | e) = P(X,e)

P(e)

7 4 1 4 6 7 A > 6 1 = I E

@ : ? 5 6 7 5 8 6 N 1 C 3 1 ² ? 1 5 @ 7 1 4 ; 7 6 N ; N 7 @ N 1 R 1 5 6 4 : @ @ ? 3 n

➤

Ń 1 5 ? A I 1 3 : C 4 > A 2 < 1 4 N >
³ 1 @ 6 4 > @ @ ? 3 > @ E S

lim
N→∞

NPS(x1, . . . ,xn)

N
= SPS(x1, . . . ,xn) = P(x1, . . . ,xn).

➤

¤ 7 3 1 @ 6 4 > A 2 < 7 5 8 7 4 5 : 6 R 1 3 E ? 4 1 C ? < 7 C 6 N 1 1 R 1 5 6 e : @ @ ? 3 4 R 1 3 E 3 > 3 1
< E n

« ¬ � ­ ® , / ¡ � 1 6 ? 4 2 3 : = ? @ 1 : 5 1 4 > A 2 < 1 6 N 1 < > ; 5 ; > 6 1 3 7 5 8 = : A > 7 5 S

P(Cloudy) = 〈0.5,0.5〉 =⇒ 3 1 6 ? 3 5 true

P(Sprinkler| cloudy) = 〈0.1,0.9〉 =⇒ 3 1 6 ? 3 5 false

P(Rain| cloudy) = 〈0.8,0.2〉 =⇒ 3 1 6 ? 3 5 true

P(WetGrass| ¬sprinkler, rain) = 〈0.9,0.1〉 =⇒ 3 1 6 ? 3 5 true

« ¬ � ­ ® , / ¡ G n 8 n � P(WetGrass| sprinkler∧ rain) @ : 5 R 1 3 8 1 4 4
< : ; < E n
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� � � � � � � � � # � � � � � � � � � � � � � � � � � ' � � � � � � �

➤

� 5 7 6 4 4 7 A 2 < 1 4 6 C : 3 A � 3 1
� 1 @ 6 7 : 5 4 > A 2 < 7 5 8 @ > 5 I 1 ? 4 1 = 6 : @ : A 2 ? 6 1

@ : 5 = 7 6 7 : 5 > < 2 3 : I > I 7 < 7 6 7 1 4 4 ? @ N > 4 P(X | e) n

➤

B > A 2 < 1 4 > 3 1 8 1 5 1 3 > 6 1 = C 3 : A 6 N 1 2 3 7 : 3 = 7 4 6 3 7 I ? 6 7 : 5 �
I ? 6 4 > A 2 < 1 4

; N 7 @ N = : 5 : 6 A > 6 @ N 6 N 1 1 R 7 = 1 5 @ 1 > 3 1 3 1 � 1 @ 6 1 = n

➤

Ń 1 1 4 6 7 A > 6 1 = = 7 4 6 3 7 I ? 6 7 : 5 P̂(X | e) = αNPS(X,e) = NPS(X,e)
NPS(e)

n

➤

� 7 6 N 4 ? H @ 7 1 5 6 < E A > 5 E 4 > A 2 < 1 4 P̂(X | e)≈ P(X,e)
P(e) = P(X | e) n

➤

0 1 � 1 @ 6 7 : 5 4 > A 2 < 7 5 8 6 1 5 = 4 6 : 3 1 � 1 @ 6 6 : : A > 5 E 4 > A 2 < 1 4 n

« ¬ � ­ ® , / ¡ B ? 2 2 : 4 1 6 N > 6 : ? 6 :
C

100 4 > A 2
< 1 4 � 73 > 3 1 3 1
� 1 @ 6 1 = > 4

Sprinkler= falsen
M ? 6 : C 6 N 1 3 1 A > 7 5 7 5 8 27 4 > A 2
< 1 4 � 8 4 > 6
7 4 C E

Rain= true n

Ń ? 4 P(Rain| sprinkler)≈ α〈8,19〉= 〈0.296,0.704〉 n
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%

" � � � � � � � � � { � � � � � � � �

➤

� 7 F 1 < 7 N : : = ; 1 7 8 N 6 7 5 8 7 4 4 7 A 7 < > 3 6 : 3 1 � 1 @ 6 7 : 5 4 > A 2 < 7 5 8 �
I ? 6 6 N 1

R > < ? 1 4 : C 1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 4 E > 3 1
F 1 2 6 � J 1 = ; N 7 < 1 4 > A 2 < 7 5 8 : 6 N 1 3 4 n

➤

Ń 1 j P 4́ : C 6 N 1 D > E 1 4 7 > 5 5 1 6 ; : 3 F > 3 1 @ : 5 4 ? < 6 1 = 6 : 6 : 4 1 1 N : ;

< 7 F 1 < E 6 N 1 1 R 1 5 6 e

7 4 n

➤

� 5 6 N 7 4 ; > E � 6
N 1 @ : 5 = 7 6 7 : 5 > < 2 3 : I > I 7 < 7 6 E P(e | x,y)

7 4 7 5 6 1 3 2 3 1 6 1 = > 4 >

< 7 F 1 < 7 N : : = ; 1 7 8 N 6 C : 3 6 N > 6 2 > 3 6 7 @ ? < > 3 3 ? 5 n

➤

L 5 1 4 6 7 A > 6 1 : C P(X = x | e)

7 4 : I 6 > 7 5 1 = > 4 > ; 1 7 8 N 6 1 = 2 3 : 2 : 3 6 7 : 5 : C

3 ? 5 4 ; 7 6 N X = x > A : 5 8 6
N 1 3 ? 5 4 > @ @ ? A ? < > 6 1 = 4 : C > 3 n

➤

� 7 F 1 < 7 N : : = ; 1 7 8 N 6 7 5 8 @ : 5 R 1 3 8 1 4 C > 4 6 1 3 6 N > 5 3 1 � 1 @ 6 7 : 5 4 > A 2 < 7 5 8 n

➤

¥ 1 6 6 7 5 8 > @ @ ? 3 > 6 1 2 3 : I > I 7 < 7 6 7 1 4 C : 3 ? 5 < 7 F 1 < E 1 R 1 5 6 4 7 4 4 6 7 < < > 2 3 : I < 1 A n
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« ¬ � ­ ® , / ¡ � 1 6 ? 4 1 4 6 7 A > 6 1 P(Rain| sprinkler,wetgrass)

I E < 7 F 1 < 7 N : : =

; 1 7 8 N 6 7 5 8 n
� 5 7 6 7 > < < E � 6
N 1 ; 1 7 8 N 6 w

7 4 4 1 6 6 : 1.0 n

Ń 1 R > < ? 1 4 : C R > 3 7 > I < 1 4 > 3 1 @ N : 4 1 5 3 > 5 = : A < E > 4 C : < < : ; 4 S

k
n P(Cloudy) = 〈0.5,0.5〉 =⇒ cloudy

7 4 3 > 5 = : A < E @ N : 4 1 5 n

§ n Sprinkler

7 4 > 5 1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 6 N > 6 N > 4 I 1 1 5 4 1 6 6 : true S

w

7 4 3 1 R 7 4 1 = 6 : w×P(sprinkler| cloudy) = 0.1 n

n̈ P(Rain| cloudy) = 〈0.8,0.2〉 =⇒ rain
7 4 3 > 5 = : A < E @ N : 4 1 5 n

l n WetGrass

7 4 > 5 1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 ; 7 6 N R > < ? 1 true S

w

7 4 3 1 R 7 4 1 = 6 : w×P(wetgrass| sprinkler, rain) = 0.099 n

☞

� 1 N > R 1 @ : A 2 < 1 6 1 = > 3 ? 5 4 > E 7 5 8 6 N > 6 Rain= true 8
7 R 1 5

sprinkler > 5
=

wetgrass ;
7 6 N > < 7 F 1 < 7 N : : = ; 1 7 8 N 6 0.099 n
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%

{ � � " � � � � � � � � � { � � � � � � � � { � � � �

➤

Ń 1 > < 8 : 3 7 6 N A 4 > A 2 < 1 4 1 > @ N 5 : 5 � 1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 7 5 Z = {X}∪Y

8 7 R 1 5 6 N 1 R > < ? 1 4 : C 7 6 4 2 > 3 1 5 6 4 S

SWS(z,e) = ∏l
i=1 P(zi | Parents(Zi)) n

➤

Ń 1 ; 1 7 8 N 6 C : 3 > 8 7 R 1 5 4 > A 2 < 1 7 4 w(z,e) = ∏m
i=1 P(ei | Parents(Ei)) n

➤

Ń 1 �̂ W _ e V̂ c 2 3 : I > I 7 < 7 6 E SWS(z,e)w(z,e) = P(y,e) n

➤

� 7 F 1 < 7 N : : = ; 1 7 8 N 6 7 5 8 1 4 6 7 A > 6 1 4 > 3 1 4 N : ; 5 @ : 5 4 7 4 6 1 5 6 > 4 C : < < : ; 4 S

P̂(x | e) = α∑y NWS(x,y,e)w(x,y,e)

≈ α′∑y SWS(x,y,e)w(x,y,e) (

C : 3 < > 3 8 1 N)

= α′∑y P(x,y,e)

= α′P(x,e) = P(x | e).
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➤

L � � � � � � � � � - . � � . + / � � � , � £ ¸ j ¸ j ¦ > < 8 : 3 7 6 N A 8 1 5 1 3 > 6 1 4 6 N 1

5 1 J 6 4 6 > 6 1 I E 4 > A 2 < 7 5 8 > R > < ? 1 C : 3 > 5 : 5 1 R 7 = 1 5 @ 1 R > 3 7 > I < 1 Xi

@ : 5 = 7 6 7 : 5 1 = I E 6 N 1 @ ? 3 3 1 5 6 R > < ? 1 4 : C 6 N 1 R > 3 7 > I < 1 4 7 5 mb(Xi) n

➤

Ń 1 4 7 A ? < > 6 7 : 5 4 6 > 3 6 4 C 3 : A > 3 > 5 = : A 4 6 > 6 1 x

C : 3 X = {X}∪Z n

➤

G > @ N 3 : ? 5 = : C 6 N 1 4 7 A ? < > 6 7 : 5 @ : 5 4 7 4 6 4 : C 6 N 1 C : < < : ; 7 5 8 4 6 1 2 4 S

k
n
� 5 @ 3 1 > 4 1 6 N 1 @ : ? 5 6 N[x]

I E : 5 1 C : 3 6 N 1 @ ? 3 3 1 5 6 R > < ? 1 x :
C

X n

§ n
B > A 2 < 1 6 N 1 R > < ? 1 : C 1 > @ N Xi

7 5 X ? 4
7 5 8 P(Xi |mb(Xi)) n

➤

Ń 1 1 4 6 7 A > 6 1 C : 3 6 N 1 = 7 4 6 3 7 I ? 6 7 : 5 P(X | e)

7 4 : I 6 > 7 5 1 = I E

5 : 3 A > < 7 � 7 5 8 6 N 1 @ : ? 5 6 4 7 5 N[X] n
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➤

Ń 1 4 > A 2 < 7 5 8 2 3 : @ 1 4 4 4 1 6 6 < 1 4 7 5 6 : > ° = E 5 > A 7 @ 1 ² ? 7 < 7 I 3 7 ? A ± 7 5 ; N 7 @ N

6 N 1 < : 5 8 � 3 ? 5 C 3 > @ 6 7 : 5 : C 6 7 A 1 4 2 1 5 6 7 5 1 > @ N 4 6 > 6 1 7 4 1 J > @ 6 < E

2 3 : 2 : 3 6 7 : 5 > < 6 : 7 6 4 2 : 4 6 1 3 7 : 3 2 3 : I > I 7 < 7 6 E n

➤

L � � � � � � � � � - . 7 4 = 1 � 5 1 = I E + � � . � - + - � . ® � � � � � - , - + - / � q(x→ x′)

C 3 : A > 4 6 > 6 1 x 6 : > 4 6 > 6 1 x′ n

➤

� 1 6 πt(x)

= 1 5 : 6 1 6 N 1 2 3 : I > I 7 < 7 6 E : C > 4 6 > 6 1 x >
C 6 1 3 t 4 6 1 2 4 n

➤

� : 3 6 N 1 5 1 J 6 4 6 1 2 � ; 1
N > R 1 πt+1(x′) = ∑x πt(x)q(x→ x′) n

� /   . - + - � . ¡ Ń 1 @ N > 7 5 N > 4 3 1 > @ N 1 = 7 6 4 � + � + - � . � � � � - � + � - � * + - � . π
7 C

πt+1 = πt �
7 n 1 n � π

7 4 = 1 � 5 1 = I E π(x′) = ∑x π(x)q(x→ x′)
C : 3 > < < x′ n

�

©

� � � � � p p 	 q � � � � � � � � r s � � � t � � � � � � � � � u � 
 v � � � � w � � � � � �

AB

� � � � � � � � � 	 
 � � � 
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � �'

&

$

%
| � � � � � � � � � � � � � �

➤

M 5 1 7 5 6 1 3 2 3 1 6 > 6 > 6 7 : 5 : C 6 N 1 1 ² ? > 6 7 : 5 π(x′) = ∑x π(x)q(x→ x′)

7 4 6 N > 6 6 N 1 1 J 2 1 @ 6 1 = b � V © b � C 3 : A 1 > @ N 4 6 > 6 1 £ 2 : 2 ? < > 6 7 : 5 ¦

7 4 1 ² ? > < 6 : 6 N 1 1 J 2 1 @ 6 1 = W ] © b � C 3 : A > < < 6 N 1 4 6 > 6 1 4 n
➤

L 4 4 ? A 7 5 8 6 N 1 1 ² ? > < 7 6 E : C � : ; 4 7 5 I : 6 N = 7 3 1 @ 6 7 : 5 4 < 1 > = 4 6 : 6 N 1

2 3 : 2 1 3 6 E : C � / + � - , / � � � , � . � / S C : 3 > < < x > 5
=

x′ S

π(x)q(x→ x′) = π(x′)q(x′→ x) n

➤

B 6 > 6 7 : 5 > 3 7 6 E 7 4 7 A 2 < 7 1 = I E = 1 6 > 7 < 1 = I > < > 5 @ 1 S

∑x π(x)q(x→ x′) = ∑x π(x′)q(x′→ x)

= π(x′)∑x q(x′→ x)

= π(x′).
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➤

� 1 6 Xi

I 1 6 N 1 R > 3 7 > I < 1 6 : I 1 4 > A 2 < 1 = > 5 = Xi

> < < 6 N 1 N 7 = = 1 5

R > 3 7 > I < 1 4 : 6 N 1 3 6 N > 5 Xi n

➤

Ń 1 � - � � � � � ­ ® , / � 7 4 I > 4 1 = : 5 6 3 > 5 4 7 6 7 : 5 2 3 : I > I 7 < 7 6 1 4

q(x→ x′) = q((xi ,xi)→ (x′i ,xi)) = P(x′i | xi ,e) = P(x′i |mb(Xi)) n

➤

¥ 7 I I 4 4 > A 2 < 1 3 7 4 7 5 = 1 6 > 7 < 1 = I > < > 5 @ 1 ; 7 6 N 6 N 1 6 3 ? 1 2 : 4 6 1 3 7 : 3 S

π(x)q(x→ x′) = P(x | e)P(x′i | xi ,e)

= P(xi ,xi ,e)P(x′i | xi ,e)

= P(xi | xi ,e)P(xi | e)P(x′i | xi ,e)

= P(x′i ,xi ,e)P(xi | xi ,e)

= π(x′)q(x′→ x).
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➤

G > 3 < E 1 J 2 1 3 6 4 E 4 6 1 A 4 ; 1 3 1 I > 4 1 = : 5 4 6 3 7 @ 6 < : 8 7 @ > < 3 1 > 4 : 5 7 5 8 n

➤

P 3 : I > I 7 < 7 4 6 7 @ 6 1 @ N 5 7 ² ? 1 4 ; 1 3 1 = : A 7 5 > 6 7 5 8 7 5 6 N 1 4 1 @ : 5 = 8 1 5 1 3 > 6 7 : 5 �

I ? 6 6 N 1 4 1 6 1 @ N 5 7 ² ? 1 4 4 ? ³ 1 3 1 = C 3 : A 6 N 1 1 J 2 : 5 1 5 6 7 > < I < : ; � ? 2 : C 6 N 1

� : 7 5 6 2 3 : I > I 7 < 7 6 E = 7 4 6 3 7 I ? 6 7 : 5 ; n 3 n 6 n 6
N 1 5 ? A I 1 3 : C R > 3 7 > I < 1 4 n

➤

j : 5 4 1 ² ? 1 5 6 < E � A > 5 E >
< 6 1 3 5 > 6 7 R 1 4 6 : 2 3 : I > I 7 < 7 6 7 1 4 ; 1 3 1 2 ? 3 4 ? 1 = S

k n
¤ 1 C > ? < 6 3 1 > 4 : 5 7 5 8

§
n
0 ? < 1 4 ; 7 6 N @ 1 3 6 > 7 5 6 E C > @ 6 : 3 4

n̈
¤ 1 A 2 4 6 1 3 � B N > C 1 3 6 N 1 : 3 E

l n
� ? � � E < : 8 7 @
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➤

0 1 > 4 : 5 7 5 8 I E = 1 C > ? < 6 A 1 > 5 4 7 5 C 1 3 3 7 5 8 4 : A 1 6 N 7 5 8 7 5 6 N 1 > I 4 1 5 @ 1 : C

> 5 E 7 5 C : 3 A > 6 7 : 5 6 : 6 N 1 @ : 5 6 3 > 3 E n

➤

P 3 : R 7 = 1 4 > @ : A 2 > @ 6 ; > E 6 : 1 5 @ : = 1 1 J @ 1 2 6 7 : 5 4 6 : 8 1 5 1 3 > < 2 3 7 5 @ 7 2 < 1 4 n

➤

L ² ? > < 7 6 > 6 7 R 1 > 2 2 3 : > @ N 6 : N > 5 = < 1 ? 5 @ 1 3 6 > 7 5 6 E n

➤

¤ 1 C > ? < 6 3 1 > 4 : 5 7 5 8 	 W b [ Z V̂ � 6 N 1 ­ � . � + � . - � - + � 2 3 : 2 1 3 6 E : C @ < > 4 4 7 @ > <

< : 8 7 @ S 7 C Σ1 |= φ > 5
=

Σ1⊆ Σ2 �
6 N 1 5 Σ2 |= φ n

➤

B 1 R 1 3 > < C : 3 A > < 7 � > 6 7 : 5 4 : C ] b ] � � b ] b V b ] W Y Û Z � b ] W ] _ N > R 1 I 1 1 5

2 3 : 2 : 4 1 = S � / � � * , + , � � - � � 0 1 7 6 1 3 � k � � �
�
� �
- � � * ­ � � � - ® + - � .

� @̧ j > 3 6 N E � k � � �
�
� � * + � / ®
- � + / ­ - � , � � - � � :̧ : 3 1 � k � �̈
�
� n n n

➤

� A 2 < 1 A 1 5 6 > 6 7 : 5 6 1 @ N 5 7 ² ? 1 4 N > R 1 4 ? I 4 6 > 5 6 7 > < < E 7 A 2 3 : R 1 = = ? 3 7 5 8 � � 4 n
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➤

� : 8 7 @ 2 3 : 8 3 > A 4 ; 7 6 N ]̂ _ Z V W b ] Z � � Z W [ � Û V b d U b 	̂ C 3 : A > 5

7 A 2 : 3 6 > 5 6 4 ? I @ < > 4 4 : C 5 : 5 � A : 5 : 6 : 5 7 @ 6 N 1 : 3 7 1 4 n

« ¬ � ­ ® , / ¡ � 1 6 ? 4 = 1 4 @ 3 7 I 1 6 N 1 > 2 2 < 7 @ > I 7 < 7 6 E :
C > @ 6 7 : 5 4 ? 4 7 5 8 3 ? < 1 4 S

{ doable(A)← preconds(A)∧not exceptional(A) �
exceptional(A)← notdeterministic(A) �
exceptional(A)← delayed(A) }

➤

Ń 1 4 1 A > 5 6 7 @ 4 : C °not φ

± 7 4 = 7 ³ 1 3 1 5 6 C 3 : A @ < > 4 4 7 @ > < 5 1 8 > 6 7 : 5 ¬φ n

➤

Ń 1 @ : 5 @ < ? 4 7 : 5 doable(run) @ > 5
I 1 = 3 > ; 5 I E 6 N 1 3 ? < 1 4 > I : R 1

8 7 R 1 5 6 N 1 2 3 1 A 7 4 1 4 preconds(run) > 5
=

deterministic(run) n

➤

B ? @ N > @ : 5 @ < ? 4 7 : 5 7 4 5 : < : 5 8 1 3 2 : 4 4 7 I < 1 7 C delayed(run)

7 4

7 5 6 3 : = ? @ 1 = > 4 > 5 > = = 7 6 7 : 5 > < 2 3 1 A 7 4 1 n

➤

¤ 3 : 2 2 7 5 8 6 N 1 2 3 1 A 7 4 1 deterministic(A)

N > 4 6 N 1 4 > A 1 1 ³ 1 @ 6 n
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➤

0 1 > 4 : 5 7 5 8 4 E 4 6 1 A 4 I > 4 1 = : 5 @ < > 4 4 7 @ > < < : 8 7 @ N > R 1 7 A 2 : 3 6 > 5 6

2 3 : 2 1 3 6 7 1 4 6 N > 6 > 3 1 < > @ F 1 = I E 6 N 1 7 3 2 3 : I > I 7 < 7 4 6 7 @ @ : ? 5 6 1 3 2 > 3 6 4 S

k n
� � � � , - + � S > 3 ? < 1 @ > 5 I 1 ? 4 1 = C : 3 A > F 7 5 8 7 5 C 1 3 1 5 @ 1 4 ; 7 6 N : ? 6

; : 3 3 E 7 5 8 > I : ? 6 6 N 1 : 6 N 1 3 3 ? < 1 4 7 5 6 N 1 4 E 4 6 1 A n

§ n
� / + � � � ­ / . + � 7 C > 4 1 5 6 1 5 @ 1 φ

7 4 2 3 : R 1 5 6 : I 1 R > < 7 = � 7 6 @ > 5
I 1

= 1 6 > @ N 1 = C 3 : A 7 6 4 � ? 4 6 7 � @ > 6 7 : 5 £ 2 3 : : C ¦ � > 4 7 6 ? 5 7 R 1 3 4 >
< < E 6 3 ? 1 n

n̈
	 � * + � � � * . � + - � . � , - + � � 6 N 1 6 3 ? 6 N R > < ? 1 4 : C @ : A 2 < 1 J 4 1 5 6 1 5 @ 1 4

@ > 5 I 1 @ : A 2 ? 6 1 = C 3 : A 6 N 1 6 3 ? 6 N R > < ? 1 4 : C 6 N 1 7 3 @ : A 2 : 5 1 5 6 4 n

➤

� 5 C : 3 6 ? 5 > 6 1 < E � 2 3 :
I < 1 A 4 > 3 7 4 1 ; 7 6 N 6 3 ? 6 N � C ? 5 @ 6 7 : 5 > < 7 6 E > 5 = @ N > 7 5 1 =

7 5 C 1 3 1 5 @ 1 4 � 7
C < : 8 7 @ > < 3 ? < 1 4 > 3 1 1 ² ? 7 2 2 1 = ; 7 6 N @ 1 3 6 > 7 5 6 E C > @ 6 : 3 4 n

« ¬ � ­ ® , / ¡ � : 3 7 5 4 6 > 5 @ 1 � Sprinkler 7→WetGrass > 5
=

WetGrass7→ Rain

6 1 5 = 6 : 7 A 2 < E Sprinkler 7→ Rain n
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➤

¤ 1 A 2 4 6 1 3 � B N > C 1 3 6 N 1 : 3 E N > 4 I 1 1 5 = 1 4 7 8 5 1 = 6 : = 1 > < ; 7 6 N 6 N 1

= 7 4 6 7 5 @ 6 7 : 5 I 1 6 ; 1 1 5 * . � / � + � - . + � > 5 = - � . � � � . � / n

➤

Ń 1 �̂ [ Ŵ � � � ] Y V W b ] Bel(X) 8
7 R 1 4 6 N 1 2 3 : I > I 7 < 7 6 E 6 N > 6 6 N 1 1 R 7 = 1 5 @ 1

: I 6 > 7 5 1 = 4 : C > 3 4 ? 2 2 : 3 6 4 X n

« ¬ � ­ ® , / ¡ j : 5 4 7 = 1 3
� 7 2 2 7 5 8 > @ : 7 5 ? 5 = 1 3 6 N 1 C : < < : ; 7 5 8 @ 7 3 @ ? A 4 6 > 5 @ 1 4 S

k n
� C 6 N 1 @ : 7 5 7 4 = : ? I 6 1 = 6 : I 1 ? 5 C > 7 3 £ 5 : 6 N 7 5 8 @ > 5 I 1 > 4 4 ? A 1 = > I : ? 6

7 6 4 I 1 N > R 7 : 3 ¦ � 6
N 1 5 Bel(heads) = 0 > 5
=

Bel(¬heads) = 0 n

§ n
� C 6 N 1 @ : 7 5 7 4 C > 7 3 ; 7 6 N > @ 1 3 6 > 7 5 6 E : C � n � � 6
N 1 5 ; 1 N > R 1

Bel(heads) = 0.5×0.9 = 0.45 > 5
=

Bel(¬heads) = 0.45

☞

� 1 : I 6 > 7 5 d U b � Z � W [ W V ¢ W ] V̂ U 	 Z [ � [0,1] > 5
=

[0.45,0.55]

C : 3 Headsn
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➤

� * � � � � / + + � / � � � 7 4 > I : ? 6 4 2 1 @ 7 C E 7 5 8 N : ; ; 1 < < > 5 : I � 1 @ 6 4 > 6 7 4 � 1 4

> R > 8 ? 1 = 1 4 @ 3 7 2 6 7 : 5 3 > 6 N 1 3 6 N > 5 ? 5 @ 1 3 6 > 7 5 6 E n

« ¬ � ­ ® , / ¡ � : 3 7 5 4 6 > 5 @ 1 � > 4 6 > 6 1 A 1 5 6
< 7 F 1 ° 7̧ F > Ȩ < < E < � 7 4 6 > < < ±

@ > 5 I 1 > 4 4 7 8 5 1 = > 6 3 ? 6 N R > < ? 1 I 1 6 ; 1 1 5 � > 5 = k

£ 1 R 1 5 7 C 7 6 7 4 F 5 : ; 5 N : ; 6 > < < N 1 7 4 ¦ n

➤

Ń 1 � � � � ¢ V U � V e : C @ : A 2 < 1 J 4 1 5 6 1 5 @ 1 4 7 4 = 1 � 5 1 = 6 3 ? 6 N � C ? 5 @ 6 7 : 5 > < < E S
T(φ∧ψ) = min(T(φ),T(ψ)) �

T(φ∨ψ) = max(T(φ),T(ψ)) � > 5
=

T(¬A) = 1−T(A) n

➤

¤ 1 4 2 7 6 1 : C 4 1 A > 5 6 7 @ = 7 H @ ? < 6 7 1 4 �
C ? � � E < : 8 7 @ N > 4 I 1 1 5 R 1 3 E

4 ? @ @ 1 4 4 C ? < 7 5 @ : A A 1 3 @ 7 > < > 2 2 < 7 @ > 6 7 : 5 4 7 5 R : < R 7 5 8 Z � V b � Z V̂ c Y b ] V U b [ n
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➤

� � . � - + - � . � , - . � / ® / . � / . � / 7 5 C : 3 A > 6 7 : 5 @ > 5 I 1 ? 4 1 = C : 3

4 6 3 ? @ 6 ? 3 7 5 8 > 5 = 4 7 A 2 < 7 C E 7 5 8 F 5 : ; < 1 = 8 1 > I : ? 6 > 5 ? 5 @ 1 3 6 > 7 5 = : A > 7 5 n

➤

� � � / � - � . . / + � � � � � 2 3 : R 7 = 1 > 5 > 6 ? 3 > < ; > E 6 : 3 1 2 3 1 4 1 5 6 @ : 5 = 7 6 7 : 5 > <

7 5 = 1 2 1 5 = 1 5 @ 1 7 5 C : 3 A > 6 7 : 5 n

➤

L D > E 1 4 7 > 5 5 1 6 ; : 3 F 7 4 > @ : A 2 < 1 6 1 £ > 5 = : C 6 1 5 > < 4 : R 1 3 E @ : A 2 > @ 6 ¦

3 1 2 3 1 4 1 5 6 > 6 7 : 5 : C 6 N 1 � : 7 5 6 2 3 : I > I 7 < 7 6 E = 7 4 6 3 7 I ? 6 7 : 5 n

➤

G H @ 7 1 5 6 > < 8 : 3 7 6 N A 4 1 J 7 4 6 C : 3 D > E 1 4 7 > 5 5 1 6 ; : 3 F 4 6 N > 6 > 3 1

6 : 2 : < : 8 7 @ > < < E d b [ ¢ V Û �̂ �
I ? 6 3 1 > 4 : 5 7 5 8 ; 7 6 N D > E 1 4 7 > 5 5 1 6 ; : 3 F 4 7 4

Q P � N > 3 = 7 5 8 1 5 1 3 > < n

➤

P 3 : I > I 7 < 7 6 7 1 4 @ > 5 I 1 1 4 6 7 A > 6 1 = I E � � ­ ® , - . � ­ / + � � � � n
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➤

D ? 7 < = > D > E 1 4 7 > 5 5 1 6 ; : 3 F C : 3 6 N 1 4 : @ @ 1 3 = : A > 7 5 n
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